Jan 8, 2009
l.y=—-x/3+5/3

2. x

3. -1

4. 2a/(2 — a) if |a| < 2, diverges otherwise
)
a
b

8. (—1/4,3/4,1/4)
Jan 27, 2009
1.
a) 3/(4e?) + 1/4
b)y=xz/ed —e—3/(4e) +1/4
2. 22—z +1
3.1
4. 2(a —4)/(7—a) if |a — 4] < 3, diverges otherwise
9.
a) —(z + 1/4)e 4% /4
b) 1/16
6.1/3, 1
0 -3 -1
15 1 -7 =2
0 3 1
-2 0 1 0
8. w(l,—1,—1), w € R (one degree of freedom)
Jan 4, 2011
1.0
2. x #km, kel
3.1
4. o3y
5)

a) a = 2,3 # 3 impossible, « = 2, 3 = 3 infinite solutions 1 d.o.f., o # 2
unique solution
b) (=6 + 52,3 —3z,2), z€ R

)] —oo,—1[and | — 1, 400]
g1

Jan 3, 2012
1. ACB~' - A
2. —3m/2



3.4/3

4. —1—m/2

d.

a) r(A) = r(Alb) = 4 unique solution
b) x =50,y = 25,z =25,t =50

6. R\ {-1,1}

8. first = 1200 x 1023/1024, second= 480(4e® + 1). Second is larger
9.

a) continuous on [0,8]

b) Not differentiable at 3.

¢) = 5 local maximum

d

) L(5) = 30 max, L(0) = —10 min



